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
  




   



   


  


   

        


 



   

          


   


 
 


   



 










            





 
 

Name No.:

PRAGATHI  EDUCATIONAL  INSTITUTIONS
Difficulty Test      (27.04.2015)       SA-ENGLISH (TET MATHS)      AVANIGADDA    Ph : 08671-272474






   




 
 


 
 
   


  




 
 



        


       



      


 
 




   






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
 



  
 


   


 


 
 

 But Put 


   



   


 









ZPD  MKO 
 

 
 
 


    


   


   


 


 
 




 
 


 
 


 
  


NCERT 


 





 
 


 
 


   


   


   


  


 



   


   



 


  
 


   


 
 


  
 


 
 
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
 
 


  


   


 

     






 


   


   


   


   




   


 
 


 
 


 
 


 


   


   

71. Choose the most appropriate.
The I-max theatre is located ......... modi road
a. behind b. at c. over d. beside
1. at is correct 2. over is correct
3. all are correct 4. all are wrong

72. A person sitting behind you in a theatre starst talking on
the mobile phone continously. That distubs you. You want
to tell him to stop. How can you make a request ?

1. Please stop talking so loudly ?
2. Please donot use the mobile phone inside the theatre

3. Would you stop the mobile phone please?
4. Could you possibly stop using the mobile phone here?

73. Identify the suitable example for homonym
1. see/sea 2. beer/hear 3. stole/stall   4. stock/stoke

74. Identify where the collective form is an error.
1. Shoal of fish 2. Host of angles
3. Clutch of ducks 4. Congress of baboons

75. While we learning about the possive form, we learn about
1. use of pronouns / noun 2. use of by
3. positions of verbs 4. use of verb form

76. Which is a lexical word?
1. might 2. is 3. love 4. the

77. How is know for his square deal to one and all?
‘square deal’ means
1. unruly behaviour 2. fair behaviour
3. uncertain behaviour 4. suspected behaviour

78. The house is a bone of contention between the two
brothers

    Here ‘bone of contention’ means
1. A root cause of the problem    2. Legal heirs
3. A strong bond 4. a share property

79. What is the study of poetry’s meter and form called?
1. potology 2. diction 3. scansion 4. prosody

80. Which word is missing in the following quotation by
Hudon?

“Poetry is made of belongs to and exist for ...........”
1. life 2. word 3. rhythm 4. metre/foot

81. Identify the part having some grammatical error.
“The audience (A) are / requested (B)/to be in its seats

(C) / No error (D)
1. A 2. B 3. C 4. D

82. Choose correctly spelt word.
1. Entrepreneur 2. Entrapreneur
3. Entrepraneur 4. Entrapraneur

 The following idiom is followed by some alternative choose
the one which best expresses its meanins

83. A pipe dream
1. An impracticable plan 2. A follish plan
3. A pleasant dream 4. A bad dream

84. How many basic sentence pattern are there in English
language ?

1. 9 2. 12 3. 4 4. 21
85. Words that sound the same but their spellings and

meaning are different are called
1. homograph 2. homophone
3. homonymy 4. polysemy

86. Choose the suitable articles to fill in the blanks
We just can’t tell ......... person who has been working

on........ assembly line for twnety five years to stop and take
...... job designing robots instead.

1. a, the, a 2. a, an, the 3. a, an, a 4. the, an, a
87. Identify the Indirect speech form for the following

Direct “When are you leaving?”
Indirect : ..........
1. He said when I was leaving
2. He asked when I was leaving
3. He told me when I was leaving
4. He wanted to know when I was leaving
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88. Choose the suitable tense forms for the following.
I ..........(hide) it somewhere where he ....... never (find) it
1. hide, finds 2. will hide, finds
3. hide willfind 4. will hide, will find

89. Identify the suitable modal verb for general possibility .
These roses .......... grow anywhere

1. will 2. shall 3. can 4. may
90. Choose the suitable prefix the following word “partite”

1. dis 2. tri 3. in 4. trans
91. Identify the parts of speech for the underlined word

The explosion blew the cooked clean through the wall.
1. noun 2. verb 3. adjcetive 4. adverb

92. Identify the main clause for “If you asked me nicely,
1. I might get you a drink 2. I would get you a drink
3. I should get you a drink 4. I could get you a drink

93. Find out the suitable passive form for.........
Everybody wanted me to be the manager.
1. I was wanted to be the manager
2. Iam wanted to be the manager
3. I was wanted to be the manager by him
4. No passive form

94. Choose the suitable question - tag for .........
It’s hardly rained at all this summer,............?
1. wasn’t it 2. is it 3. has it 4. is n’t it

95. She is faster than any other player.
Choose the superlative degree for the following.
1. She is the fastest player of the team
2. She is the fastest player of them all
3. She is the fastest player in the team
4. She is perhaps the fastest player of the team

96. When we use the following words fruit and vegerables we
know that ..............

1. Fruit is a countable and vegetable is uncountable
2. Fruit is a an uncountable noun and Vegetable is a

countable
3. Both are countable nouns
4. Both are uncountable nouns

97. Identify the suitable word to fill in the blank she decided
to buy the bicycle ........ it was expensive

1. although 2. but 3. yet 4. still
98. ‘What? what did you say?” These are the words of

1. The principal 2. The mathematics teacher
3. The physics teacher 4. Wasserkopf

99. “Excuse me,” I stammered, but do you mind giving me
your card?

Here the opposite meaning of ‘stammer’ is
1. speak with mutre 2. whishper
3. speak without anypauses
4. speak in a low voice with pauses

100. Why, indeed? Whispered ......... to his neighbour, in a
soft, low voice.”

     Choose the suitable word to fill the blanks.
1. A little green lizard 2. A daisy
3. A butterfly 4. The nightingale

101. Whose is the following dialogue in mothers day?
“Feeling off - colour or something?”
1. Mrs. pearson 2. Mr. Pearson
3. Cyril 4. Doris

102. “Now people of this sort have no chance to attain any
great age. They are on the wrong track”.

In the above lines stephen leacock talks about
a. The people who do not drink tap water or eat canned

food
b. The poeple who get up early and run for miles
c. The people who avoid tasty food.
1. a, b 2. b, c 3. a, c 4. a, b, c

103. “I’m just waiting for a friend. It’s an appointment made
twenty years ago. Sounds a little funny you. doesn’t it?”

The above lines indicate
1.giving information 2. narrating an incident
3. asking for an agreement 4. describing the situation

104. In France, animal farm’s published quietly changed the
name of the pig Napoleon to

1. Alexandre 2. Macbeth 3. Cesar 4. Augustine
105. If robot replaces the human what would happen?

1. Society would depend heavily on the machines
2. We are afraid of unmployment
3. Robots are used in dull and boring jobs
4. People would live a happy live

106. Datta, the Owner of the modern frame works, covered the
shop with the following pictures except.

1. Gods and saints          2. Hockey players and children
3. National leaders and wedding couples
4. English calligraphy and cheap prints

107. To whom did shakespeare dedicate his long narrative
poem venus and Adonis and the Rape of Lucrece?

1. Queen Elizabeth 2. James I
3. William Herbert, Earl of pembroke
4. Henry wriothesley, Earl of southampton

108. What does ‘Artemidorus offer caesar in the street?
1. A letter warning him about the conspiracy
2. A suggestion 3. He gave a magic soward
4. He tried to offer magical words that help in neeed

109. How does Lady Macbeth explain her husband’s wild
behaviour at the banquet?

1. She tells the quests that Banqo’s ghost is haunting
macbeth.

2. She tells the guests that macbeth is ill
3. She reveals that macbeth is overcome with grief over

the Duncan’s death
4. She reveals that macbeth has had too much drink

alcohol
110. How does macbeth persude the murderers to kill Banquo?

1. He says he would pay them
2. He threatens to imprison them
3. He taunts them for their lack of manliness
4. He threatens to execute them

111. The following is true according to the poem ‘Day-Break’
1. Thewind greeted the ships and wakeup
2. The wind touched the lefy banners in the forest
3. The wind requested the field to wake up and give fresh

air conect.
4. The wind told the sailors to sail on as the light was

gone
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112. R.W. Emerson was associated with Transcendentalism
The following statement is not true about Transcend

entalsm
1. It is a reaction against Enlightment
2. It is an allegyg of puritanism
3. It stresses on reason
4. It sresses on self-belief and self-reliance.

113. “And having perhaps the better claim”
The above line is taken from
1. Day Break 2. The Road Not Takon
3. A Nations Strength 4. Anecdote for fathers

114. “Over the countryside” Here ‘countryside’ refers to
1. The green fields of the village
2. The outskirts of a town
3. The parks of the town
4. The fields, meadows & parks of moor

115. The following statement is true according to the poetess
in the poem “Because I could not stop for Death.”

1. After one’s death, a person is led towards eternity
2. After one’s death, a person is led towards immortality
3. After one’s death, a person is led towards graveyard
4. After one’s death, a person is led towards the horses’

head
116. In the poem ‘palanguim Bearers’ She is comaped to the

tear from the eyes of a bride because
1. She is as clear as a drop of fear
2. She is as bright as a drop of tear
3. She is as small as drop of water
4. She is as salt as the tear

117. Why does the poet think that celebrating mother’s day
with much hue and cry for a day in a year is a kind of
desecration?

1. love should be shown in public
2. love is not sacred
3. love is very subtle and fragile and it should not be

exhibited all round
4. The spurious celebrartion enhonces the sanctity of

love
118. Why does an ascetic serve a diseased lady when other

leave her outside the city due to the fear of infection?
1. He is not subject to disease
2. He wants to get credit
3. Her does not fear death and infection due to the

disciple of Budha
4. He has only a soul which won’t be affected by the

disease
119. Why does the poet want his country to be awakened ?

1. His country was in the hands of the foreigners and his
people weren’t unified

2. His country was in the dirty poverty
3. His country was rich in culture but in vain
4. His country lacked intellectuals and wise men

120. Why does the poet use more adjectives and metaphors
to qualify the bangles ?

1. She is famous for using them
2. She loves to do it
3. The bangles evoke in her the feeling to draw images

from nature.
4. Generally poets are very fond of using metaphors and

adjectives.
121. When two equally good places are given to choose

either, why does it take much time to decide ?

1. It bears happiness, the imperssions of the happy
events of the past

2. Good places often attract us because nature enhances
their beauty

3. We are incapable of thinking judiciously when beauty
becomes the object

4. Choosing either makes us feel repentant for the loss of
the other

122. “And then again I dissolve it in rain,
And laugh as I pass in thunder”...........
‘Here dissolve it in rain’ means
1, Melt the thunder by pouring rain over it
2. Melt the grain by pouring snow over it
3. melt the rain by pouring sonow over it
4. Metl the snow by pouring rain over it

123. Why does the poet (Oliver Goldsmith) write such a poem
1. To entertain people 2. To parady the rich
3. To satirise the self - proclaimed noble people
4. To educate people against pretentions of good people.

124-126. Read the poem given below and answer the following
questions.

It brings rest to the weary
Cher to the qlum
Sunshine to the sad
In a palace or a slum
You can’t beg, barrow or steal it
Nor buy it, whatever you pay.
For it has no value at all,
Unless its given away

124. ‘Weary’ in the poem means
1. poor 2. tired 3. sad 4. angry

125. A smile is ........to both the rich and the poor.
1. equal 2. precious 3. required 4. asked

126. ‘Smile’ has value when
1. we want it 2. it is paid
3. it is given away 4. you are tired

127. What is the system of rules that governs how words can
be meaningfully arranged to form phrases and sentences?

1. phoneme 2. language 3. morpheme 4. syntax
128. Receptive language skills are

1. being able to self-correct while using language
2. using grammatical strcutures accurately
3. listening and reading for information
4. reading and writing for information

129. While writing, “ellipses’’ is a
1. phrasal verb 2. semantic linker
3. adjectival form 4. prepositional form

130. Under the method of teaching and learning, which stage
should be given the maximum time?

1. comparison 2. generalisation
3. preparation 4. presentation

131. Who gave the tri-lingual formula ?
1. Mudaliar commission
2. Basic Education commission
3. Kothari commission
4. Radha krishnan commission

132. During the course of classteaching, students would ask
questions only if

1. They are understanding the topic being taught in the
class

2. They are taking an interest in studies
3. They are not understanding the topic being taught in
the class 4. All
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133. When learners are engaged in a pair, activity, taking on
roles of a doctor and a patient, the activity is called

1. declamation 2. simulation
3. exchanging notes 4. real activity

134. Using a word bank and brain storming helps to build
1. ideas 2. writing skills
3. vocabulary 4. reading comprehension

135. Poetry teaching does not involves ........
1. pronunciation drill 2. model recitation II
3. Imitation recitation 4. comprehension questions

136. Language laboratory is the place where the learners have
to listen on headphone. The language labs are set up with a
view to provide listening activities in order to make them
developing good

1. analysis habit 2. speech habit
3. critising habit 4. listening habit

137. The main purpose of assessment is
1. To decide pass and fail
2. To measure achievement of larners
3. To give practice in writing
4. To improve the teaching - learning process

138. To teach new items is very inconvenient and time
consuming in

1. Reading method 2. Bilingual method
3. Direct method         4. Grammar- Translation method

139. ......... approach focuses on the student’s ability to gain
the communicative skills required in everyday discourses.

1. Audio-Lingual 2. Task-Based
3. Communicative 4. Structural

140. A student’s answers were evaluated by two examiners
and one awarded 75% and the other 50% we can say the
test was

1. Not scorable 2. Not reliable
3. Not economical 4. Not valid


   

 MCDIX 
   




 
 

4l2+(k+10)lm+25m2 k=
   




   



  

 3 

 3  2   




   




 3  3  3  3


   

 15
4

4
15


x 

   



 




X H M N


     


  
 

 51


V
V   4

4 1
V

V

   
(x+3)(x+9)(x2+12x+35)+16 

x2+14x+31 x2+12x+31
x2-12x+31 x2-14x+21





   
x<y<2x, x,y,2x 

x, y 
   


   


       



   
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


   
  


   

x2+ax+b, x2+cx+d x-2  



ac
db

   
a2+b2+c2=ab+bc+ca 

a+b+c=0 a+b=c a=b=c a2=b2=c2

 


  
       


   


     


    
      


 
 


       






      


 
 




   



   


Nacl  NaOH H2 Cl2







   





A-m2 W/m2

W/m2 W/m2

       
















ohmw ohms
ohms ohmw


     
V2/rg 


   

N2 
   


H2SO4 

P2O5 H2SO4 

   




COCl2 Cl3CNO2 ClCNO3 Cl2CNO2




H2 

   
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All the Best







 


        


















  DNA      


r DNA DNA 
 r DNA 
  



 





   
    
   
    


 
 
 
 
 

 
 





     O     






   






 
 

  


mmHg cmHg mmHg cmHg


nm nm nm nm
 


   


   




   
       





   


      


 
 



 



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 2 51 1 101 3 151 1
2 4 52 3 102 4 152 3
3 1 53 3 103 2 153 4
4 2 54 2 104 3 154 1
5 4 55 4 105 1 155 3
6 3 56 2 106 4 156 2
7 3 57 2 107 4 157 4
8 1 58 1 108 1 158 2
9 2 59 1 109 2 159 3

10 2 60 2 110 3 160 2
11 3 61 4 111 4 161 3
12 4 62 2 112 3 162 4
13 3 63 2 113 2 163 2
14 4 64 4 114 1 164 3
15 4 65 4 115 1 165 2
16 3 66 3 116 2 166 3
17 4 67 4 117 3 167 4
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17 4 67 4 117 3 167 4
18 2 68 1 118 4 168 3
19 1 69 4 119 1 169 4
20 2 70 1 120 3 170 2
21 4 71 4 121 2 171 3
22 2 72 2 122 4 172 4
23 3 73 1 123 4 173 2
24 3 74 3 124 2 174 3
25 3 75 4 125 1 175 2
26 3 76 3 126 3 176 1
27 1 77 2 127 4 177 2
28 2 78 1 128 3 178 2
29 1 79 4 129 2 179 2
30 2 80 3 130 4 180 3
31 3 81 1 131 4 181 2
32 4 82 1 132 4 182 4
33 3 83 1 133 2 183 4
34 2 84 1 134 3 184 1
35 4 85 2 135 1 185 2
36 3 86 3 136 2 186 1
37 1 87 4 137 4 187 4
38 2 88 4 138 3 188 3
39 4 89 3 139 1 189 1
40 4 90 2 140 2 190 140 4 90 2 140 2 190 1
41 3 91 4 141 1 191 3
42 3 92 1 142 4 192 1
43 4 93 4 143 2 193 1
44 1 94 3 144 1 194 2
45 2 95 2 145 4 195 1
46 1 96 2 146 1 196 1
47 1 97 1 147 3 197 3
48 3 98 4 148 4 198 1
49 2 99 3 149 2 199 1
50 1 100 2 150 3 200 4


